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There were 5 rainbows. 1 disappeared.
That left 4.
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There were 5 rainbows. 1 disappeared.'
That left 4.




There were 4 rainbows. 1 disappeared.

That left 3. )
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There were 4 rainbows. 1 diéappeared.

That left 3. j
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There were 3 rainbows. 1 disappeared.
That left 2.

There were 3 rainbows. 1 disappeared.

That left 2. =
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There were 2 rainbows. 1 disappeared.

Thatleft 1. /

There were 2 rainbows. 1 di—éappeared.
That left 1. o



There was 1 rainbow. It disépp’eared. |

That left 0.
Where have all the rainbows gone? —

There was 1 rainbow. t disappeared.
That left 0.

Where have all the rainbows gone?' -
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The sun is playing hide and seek with the c'iouds.
You can’t have a rainbow without the sun!
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The sun is playing hide and seek with the clouds.
You can’t have a rainbow without the sun!



